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(1) HEBAHEOAD - HHEHRVEE
MEFICRHEOB VL ORST6FIRIRREDT— 4

27 IN=[ON (145 B (ki)
T B W 59,648 25,547 74.59
E = )1 & 30,936 12,693 54.39
T £ ®| 38,281 16,494 61.06
&t 128,865 54,734 190.04
(2) HEFEORR
A
(B @ FM)
SH6FEELYFE SHSEE L FE
1 & 18 & 2,036,280 2,022,999
2 EARKROFHK 2,265 2,265
3 E X 3 & 2 2
4 B X H % 830 830
4 B E I A 6 6
5 &F it = 2 2
6 A & 40,000 30,000
7% i & 17,000 17,000
8 & I A 2,905 2,905
9 # &) 1& 84,000 45,400
a 5 2,183,290 2,121,409
o
(B @ FM)
SHOFEELYFE SHSEE L TFE
1 &= = = 567 567
2 % & 151,484 127,999
3 H 53] & 1,902,605 1,826,721
4 N & & 126,634 164,122
5 F 15 & 2,000 2,000
&) E 2,183,290 2,121,409




(3) &5 FEBATHETSEE

(EfL : FM)
X5 SHEPFBEEEMHEERE | 2B 0EE B/A %100 AL
T BT A1) (A) (B) (%) (%)
T B W 926,353 926,533 100.0 45.5
E = JI| BT 568,713 601,792 105.8 29.6
F £ H 483,848 507,955 105.0 24.9
=t 1,978,914 2,036,280 102.9 100.0
(4) ERALO - HHEEEHPEEH
X5 o HEPEE 1 AH7/2Y
A0 HE BB —
F Ad HE £
27 130,043 47,465 162 803 293
28 130,685 50,023 160 817 313
29 131,159 50,416 161 815 313
30 130,997 51,081 163 804 313
R1 130,741 51,460 161 812 320
R2 130,554 52,879 170 768 311
R3 130,263 52,776 174 749 303
R4 129,690 53,343 182 713 293
R5 129,164 54,179 187 691 290
R6 128,865 54,734 191 675 287
(5) JHBHFAER - B TELEEHN
P % Z0
HBFEE [CEBFRSE| CE RS |EmRSw | HETEE [EpRIER| JEBA L " z
el =E =10}
EE PEARBIDTEE (X7 L
E£5 1 8 28 48 30 27 2 191




(6

) HEERERR

7 HBAEED

AN RYEES SiES BB BERDR o] o
B|E|E|E |8 |®R|[®]T|R]|= W E| R |22 ® |[®m] & | ®
4 % |=|w ’ w || % B nz # 8 & ?
. £ . w | =
=& elm|wlw|ole]e]ln|wnlm glalo|lelo] = [#]la]s] "
H o E|1 1
HBARISR 1 1 1 5
SHEE RS 2 1 1 111 3| 4 13
SERE RIS 2(1]1 1111 1 4111 13
HBA & 1 111 1] 4
SHBAEI R 1 1 1 3
H OB L 51 5
z O 0
& 111 2121111 1[1|2]2(2 11112(1)10f 1 |39 ]| 7] 44
1 HBAE
o - BIEHDE TEEBE | ESNEBE | A
HE RS R 1 1 1 3
JHBE RS 6 6 3 15
JHBE RIS 19 9 7 35
SE TR 20 12 11 43
JHBARIE & 12 9 6 27
B OB L 9 7 6 22
Z D 1 1 2
& B 67 45 35 147




